TEWMERHMBE  $255 1989

SUMMER (NH) vV (50 N)
120E 150E 180 1S0NW 120K 90W

500 500

1000 1000

L

120€ 1S0E 180 150W  120W 30N
CONTOUR INTERVAL = 1.0 CM/S

3.4.137 EFIBFHHMEREILES (V) OREBGRIESA (50°N)

SUMMER (NH) Vo440 N
120 1SOE 180 , ISOW _ 120W 90K
S~y

500 500

1000 1000

1206 150E 180 150 120M 0N
CONTOUR INTERVAL = 1.0 CM/S

X 3.4.138 FEFZBTHHEREILES (V) OEBEWES M (40°N)
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SERREIHAR RS H255 1989

SUMMER (NH) v (30 N)
120E 150E 180 150W 1204 90W

500 500

1000 1000

1206 150F -012 180 SoW | 120W | 9OMW
CONTBUR INTERVAL = 1.0 CM/S

X 3.4.139 EZF BT s Eks (V) OREWTESA (30°N)

SUMMER (NH) v (20 N)
120E 150E 180 150K 120K
BT ]“ ;

-500

1000

12067 150 | 180 1504 120M
CONTOUR INTERVAL = 1.0 CM/S

3.4.140 EFCBT s RIS (V) OEGERES A (20°N)
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REMEFHMRE %255 1989

SUMMER (NH) v o (10 N)
120E 150E 180 150K 120W 90HW

1000 000

S0E 1 1S0W 120W S0W
CONTOUR INTERVAL = 1.0 CM/S

3.4.141 EBEFIIBIT A EREILES (V) OREGEMESA (10°N)

SUMMER (NH) v (5 N)
120E 150E 180 150W 1 20W S0W
B L R T RN b = SR

S00

1000

120E 150E 180 150W 120W S0W
CONTOUR INTERVAL = 1.0 CM/S

3.4.142 EFIIB L HEREILES (V) OFRARES A (5°N)
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[RWEFEAMEE 255 1989

WINTER (SH) v (10 3S)
120 150E 180 150K 120W S0W
3 153 AR v i v

g» Y

0

500

1000

120E 1506 180 150K 120N J0MW
CONTOUR INTERVAL = 1.0 CM/S

3.4.143 &7F (FEIR) 2B EHEEILES (V) OREERESA (10°S)

WINTER (SH) IS
0, 1206 1SOE_ 180 ISOW _, 1200 90N,
500- F500
1000+ -1000

T 120€ 1S0E 180 150N 120W 30N
CONTBUR INTERVAL = 1.0 CM/S

3.4.144 &% (HEER) B 2MEREILES (V) ORERES (20°)
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REWFFHMME  $255 1989

WINTER (SH) v (30 S)
0 120E 150E 180 150K 120K 90W

i

1000+

150 180 1%
CONTOUR INTERVAL =

Lk
" 1200
1.0 CM/S

3.4.145 A% (M%) (B AmEREIRS (V) OREEES T (30°S)

WINTER (SH) v (40 3)
0 120E 150E 180 150K 120W
it A g -
L
.685
500+
1000+

1206 IS0E 180 1S0W  120W | 90W
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.146 &% (3R (B anfgmEiss (V) OB ES A (40°S)
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[BEFHARE #2555 1989

WINTER (SH) v (30 35)
120E 150E 180 1S50NW 120W 90N

1 | T [

500 500

1000 1000

120E 150E 180 150W 120KW S0W
CONTOUR INTERVAL = 1.0 CM/S

3.4.147 £ (B¥ER) ICB HEREILESs (V) ORBEMESA (50°S)

WINTER (SH) v (60 S)
120€E 150E 180 150W 120K 90N

500

1000

120E 150E 180 150NW 120HW 90W
CONTOUR INTERVAL = 1.0 CM/S

X 3.4.148 4% (B3R 2B AHmEHEELEs (V) OEERES A (60°S)
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